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Please Check your E-Mail.

Kindly give me a chat as you come in.

It's also nice if you say "Adios' on your way out.

Writing Project #0 Late Edition is Open on D2L
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Section 2.1 - Trig Identities:

Basicallv word puzzles with algebra thrown in.

Reciprocal Identities

cos u

tan u

CSc u sec u cot u
1 | 1
cscu = —; secu = cotu =
Sin u CcoS u tan u
Quotient Identities
sin u cos u - Y9
tan u = cotu = — tan(u)= %
cos u sin u 2
sw(W) a 9 P
. = < = see !
Pythagorean Identities oos (W) E X
sinu + cos®u = 1 ] 1 + tan® u = sec’ u 1 + cot> u = csc’u
Cofunction Identities B S D) =G

Sin(z s u) = CcoS U co';(E — u) = sin u Gern)=
T2 ‘ "\ 2 ‘ J (costu), )
W7
tan(ﬂ ) cot cot(n ) tan %
——ul= u ——ul= u
2 2
T T 2 -
SGC(E — u) = cscu CSC(E — u) = sec u 1+ S ln) = “ME
cos™u) cos H(u)
Even/Odd Identities = uc"'(u\ <<es64\
sin(—u) = —sinu cos(— u) = cosu tan(—u) = —tan u
= seclw)
csc(—u) = —cscu sec( = sec u cot(—u) = —cotu
sie s odd ,U\)@
COS h€ S ownen Eb
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EXAMPLE 1 Using Identities to Evaluate a Function

" 3 . . . .
Use the conditions sec u = —5 an @ o find the values of all six trigonometric
functions. o
N
-n\l 9- — 7 fven~

Solution Using a reciprocal identity, you have
I 1 2

secu —3/2 Y

Cosu =

Using a Pythagorean identity, you have
.9 o) . .
sinfu = 1 — cos*u Pythagorean identity
2)2 )
=1- (_}) Substitute —3 for cos u.

5

= E‘
I wouldn't even think of using a Pythagorean identity, here, as I would have the
triangle already drawn, with all 3 sides:

Simplify.

- 4
(¢! eos(w)= Sclwy ~ (-__i): ‘% 2cos(n), There a - 4 ‘Lr"q"ﬁ"es

-C"H’?"j he 6.
i _— -t = (
) see - -3 = dagln) =7 75 = eos)

wiP wm

(ic'.t'\ QCG‘\='§'— - awslu)= ~

%

(Las[u\:*% = -

AL N PoHuagerus
No \GL\ g =\(7-Y =Vs

_.Ql o -_—_6

Nsw/ -Law\(u\vo

§ﬁ\75

5
5

MIR e \p\
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Simpliby  dostx ese x - ese(x)
C HECK Po(wT
- ese (x)(eos"(\d—") = A Pres EvampleE 2 .

ug(x)(t-cof" (X)) S L)) +dog (.._3- ) ———p

s FHly= \—¢ G’SL(&‘)
= 5\...60

(=2-5) Ca+b)

g,:.a"'Cx) -—\ (eeal®) =N cee Ge)41)
= - = S—(¢(x) <!

gae () =\ sealx)— |

o) | A | et )

—;::&\—’ ( see G-/ @c(x\ +\§

Jon¥ 1) (uc (x) ) )Y (uc.(u-#m
= —_— =
0\ — * do¥C)

= Q‘C(&\ +\
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Factoring Trig Expressions

Yacror Hs*© - Lot uz 820 Than Yol = (u-) L)
CTO “ ¢

’ = (136 - 1) (’Lctl@"’" )

S2.3! Solve
b\;::ze—\ -0 —=2

Qz;:.@ AN 2528 =00 =

2s560=1 on. 2s-&= |

L -
95\3"1 ore s =-+

-
SRS 3
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~

Sa.3.
Credw- ¢S50 LY s+ (S “UJ'/MMJ 4y S

SLEDGEHAMMER!?
Solve 65528 6Y si® +§ =0

by
lator, Fmd -/l €o/wb£fbv-f

w i~ °"k/ a scien

- Eo,o:nj L Radaws,

LA calce
+» 3 CJ-4<:W\¢|/P("C€S'

You can factor ANY polynomial with integer coefficients up to degree 4, by
radicals.

Crcto- (T 2B -9 O+ (s

S o bYu +1S 1= 3.
cS=13:S
¢SHF—39u =25 u & 3 e
= Bu(fu-23)-5 (5u-3) - zat2l=6Y
= (Cu-’D(:'Sw—':T) (n?)(cf‘) = o925
. - -3 - 3
= (ssZ (u)-‘s)él?sw&\—?\ ¢y = -u3-\
- —5Y4-10 s4o
- _Q",—la 880
4o 440
Y 1Y) = "'Co‘q".f .
23 __ma—as IS
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I'm done fooling with these messy big factors, because my teacher sucks at
arithmetic.
(s tYu -\ G =0
=S b=-61, =&

brdas = 42 v Go)(S) =(26 ,
1 [196

m— ;l")‘t'qq = 2. F =t 2198
COE T ek =+ [49
= — — = - - I
1a 2 (LS
oA -ty
= '_(i-t— or- 1o
O
se _ S
_ 22_ 32_232 = T30 -
© 50" W S '3

2
So u= =, 3

s
6 (u-2 ) u- ',:,\

S N
- s’(b" %)(l’))( —%\: (5"(,,_.'3‘3(;3(4—5

- (g-s..:a—?3 (3s=©-5)

—’7
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- kN
. (2} arc sl
arcsin (s

-t ?;) ;}',36.869897650 stN"'C—,S-—-;w ~ 22.619864950
&£ 0.3947911197
7~ 0.6435011089 4
U= 3
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(see-8)(2 sz +9)

Solve. H¢o2E-3 = O

qum”%:o
4u= G 4 =B N BN
& 2
LT
.G
u=>- a
oG

soBd=

2
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Trig Substitution:

I
7
> = —
=4
N
2=5.0
v)=r';c:\.
<
[ x-"
—_—
)'s
—¥—= CO{Q —;=Q<‘Q
%= rc_osg = )csecg
mesC

10
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Trigonometric Substitution In
Exercises 55-58, use the trigonometric
substitution to write the algebraic expression
as a trigonometric function of 6, where
0<0 < n/2

55. V9 —x2, x=3cosH
56. /49 — x2, x = Tsin @ /‘/ﬁ
57. \m, x = 2sect :é’ sec & \

58. /92 + 25, 3x=>5tané

2L

q-vx
> K
&)
(| 9-x¥

X - suB

-

2
<J- [\)\ou), Qo\LS'L--J'LnJ'e
\‘ q- XL = \‘?- 9s S

Tey walNT x=3ewsH
\ oso = '% = \IQ(‘—“’:@j
2, =3V i< =3Va'e
ﬂ\(q/ﬁ
X
\

=2 )eos& |
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Add
4+ —
| & eos(O \ - eosCx)

LeD = (14 tos( 1 - cosG)) =
Sutx Cr) J—eos¢x) b_(g) 1+ cosG _‘_40560
msm 1-a0% (¥) m(x) T+ cos &)
s G- st () ¢os Cx) s 00
2z —
1—cos™(x)
= Lok &) = i ':L"J. esca (k)—)
- s (x) s S Cx)

- eoc®(x) =-So'\L6<)

13
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